



(جمع الكسور (الكسر الصحيح) (الكسر غير الصحيح

اسم: _____

التاريخ: _____ النتيجة _____

$$\frac{7}{9} + \frac{5}{7} =$$

$$\frac{5}{2} + \frac{2}{9} =$$

$$\frac{5}{8} + \frac{7}{9} =$$

$$\frac{3}{6} + \frac{1}{7} =$$

$$\frac{5}{6} + \frac{5}{6} =$$

$$\frac{6}{5} + \frac{7}{8} =$$

$$\frac{7}{4} + \frac{3}{9} =$$

$$\frac{2}{3} + \frac{7}{9} =$$

$$\frac{1}{9} + \frac{2}{3} =$$

$$\frac{2}{9} + \frac{5}{7} =$$

$$\frac{2}{9} + \frac{1}{7} =$$

$$\frac{5}{6} + \frac{5}{9} =$$

$$\frac{1}{6} + \frac{4}{7} =$$

$$\frac{7}{4} + \frac{3}{7} =$$

$$\frac{5}{2} + \frac{7}{6} =$$

$$\frac{1}{7} + \frac{2}{5} =$$

$$\frac{1}{2} + \frac{6}{4} =$$

$$\frac{1}{3} + \frac{4}{6} =$$

$$\frac{4}{6} + \frac{2}{3} =$$

$$\frac{3}{4} + \frac{4}{6} =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$\frac{7}{9} + \frac{5}{7} = \frac{94}{63} = 1\frac{31}{63}$$

$$\frac{5}{2} + \frac{2}{9} = \frac{49}{18} = 2\frac{13}{18}$$

$$\frac{5}{8} + \frac{7}{9} = \frac{101}{72} = 1\frac{29}{72}$$

$$\frac{3}{6} + \frac{1}{7} = \frac{9}{14}$$

$$\frac{5}{6} + \frac{5}{6} = \frac{5}{3} = 1\frac{2}{3}$$

$$\frac{6}{5} + \frac{7}{8} = \frac{83}{40} = 2\frac{3}{40}$$

$$\frac{7}{4} + \frac{3}{9} = \frac{25}{12} = 2\frac{1}{12}$$

$$\frac{2}{3} + \frac{7}{9} = \frac{13}{9} = 1\frac{4}{9}$$

$$\frac{1}{9} + \frac{2}{3} = \frac{7}{9}$$

$$\frac{2}{9} + \frac{5}{7} = \frac{59}{63}$$

$$\frac{2}{9} + \frac{1}{7} = \frac{23}{63}$$

$$\frac{5}{6} + \frac{5}{9} = \frac{25}{18} = 1\frac{7}{18}$$

$$\frac{1}{6} + \frac{4}{7} = \frac{31}{42}$$

$$\frac{7}{4} + \frac{3}{7} = \frac{61}{28} = 2\frac{5}{28}$$

$$\frac{5}{2} + \frac{7}{6} = \frac{11}{3} = 3\frac{2}{3}$$

$$\frac{1}{7} + \frac{2}{5} = \frac{19}{35}$$

$$\frac{1}{2} + \frac{6}{4} = 2$$

$$\frac{1}{3} + \frac{4}{6} = 1$$

$$\frac{4}{6} + \frac{2}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\frac{3}{4} + \frac{4}{6} = \frac{17}{12} = 1\frac{5}{12}$$